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i |mExHas| Hikids | EES | f8Ls | BURER | HER
(a) (b)=(a)/1.1 | (c)=(a)~(b) (d) @=(d)/11 | (B=(d)~(e)

1 _RESIEIZRETS(ER) 644 H208(1)-218(H) =1 /NG 13,000 11,819 1,181 16,000 14,546 1454 | #2551 £BTHRS
2 | EERERTERMERR EREER 65/ 198 (R) =Y N ] R - = P = - —

3 | FERERIERMERRES S 646150 (X)-16R0(H) =Y N i) 9,900 9,000 900 12,100 11,000 1,100 —

4 | EIRBERIEITZERBETS(HER) 646 A29H(1)-308(H) =X VNG 17,600 16,000 1,600 23,100 21,000 2100 |#2&IcEEBTHERE
5 | EXFliakitEE -BREER 657H25H(K) =Y N 4,400 4,000 400 8,800 8,000 800 | #EZHEICEATRSE
6 | RMBER-RERREE = 648 A 238 (%) [=1 /NG 5,500 5,000 500 8,800 8,000 800 —

7 —HEERIEIZRETS(ERD) 648 A31H(L)-9RA1H(R) | &t 13,000 11,818 1,182 16,000 14,545 1455 | #2H1 2B TRE
8 | BERABRRIFMRZEERIEREER 6898 118 (K) =1/ 3,300 3,000 300 6,600 6,000 600 HEHICRETRE
9 | RIRRIEEE= 6210811 8(%) =Y\ 4,400 4,000 400 7,700 7,000 700 HEHITEBTRE
10 | F—EERIST T ZREBT (P 6108198 (1)-208(8) | St 20,000 18,181 1,819 25,000 22,7217 2273 | #2EI-2BTHERE
1| BEREXRHEREESS 6412 A3ACK)-4B(K) =Y N ] 7,700 7,000 700 12,100 11,000 1,100 | #2HI<RETRE
12 | EE-FHAIEEERNRFIREEE S THE1H218()-2280K) =1 /NG 12,100 11,000 1,100 17,600 16,000 1,600 —

13 | EEESBEFANAEREER 78E2A580K) =Y N ] 6,600 6,000 600 9,900 9,000 900 —

14 | EXBERERBEES TE2RA218(%) =Y N 6,600 6,000 600 9,900 9,000 900 —

15 | F_RRERISETESRICETLEAMERES X OVDHED) — — 1,980 1,800 180 2,200 2,000 200 —
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